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TTREREHR

% L7 ]WOK g E = B BifSL
k&
HPPE ¢ 150 3.00
P = o
DP=0. 90 3.00 m
HPPE ¢ 150 6.17 + 8.30
. = e ol 4
DP=0. 90 14. 47 m
HPPE ¢ 150 2.53
. = e ol
DP=1. 20 2.53 m
HPPE ¢ 150 96.50 4+ 0.97
A1+ 14
DP=0. 90 97.47 m
HPPE ¢ 100 3.00 + 0.70
ARexLTI5
DP=0. 90 3.70 m
HPPE ¢ 100 1.50
AZTTI6
DP=1. 20 1.50 m
HPPE ¢ 100 0.90 x 1.00
BiEEIT1
DP=0. 90 0.90 m
HPPE ¢ 150 1.05 x 9.00
BiEHIT2
DP=0. 90 9.45 m
a5t 133.02 m




AT THRER

KBTI ARET? | ARLT3 AFLT4 ARETS ARLT6 BEATI BEST2
T i BifT EREtE & &t HPPE® 150 HPPE 150 HPPE 150 HPPE ¢ 150 HPPE @ 100 HPPE @ 100 HPPE ¢ 100 HPPE ¢ 150,
DP=0.90 DP=0.90 DP=1.20 DP=0.90 DP=0.90 DP=1.20 DP=0.90 DP=0.90
EHRIEAI [HmiEAl] m3 | 121.00 = 121.24 2.23 | 20.78 3.80 | 86.32 3.05 1.34 0.32 3.40
ERRIEAI (A NTEHI] m3 3.00 2.95 0.23 2.72
EER [RC-40] m3 = 18.00 18. 25 0. 36 2.89 0. 51 11.70 0.44 0.18 0.19 1.98
EIREER [RC-40, A 7] m3
ERER [RERAET] m3 = 41.00 41.14 0.47 7.18 1.42 | 29.01 1.00 0.50 0.14 1.42
ERER [REREL AN] m3
EHER (L] m3 = 38.00 38.12 0.79 6.58 1.15 = 25.63 0.90 0. 36 0.22 2.49
ERER (U8, AN] m3
ERER (WERE] m3 8.00 8.04 0.18 1.45 0.25 5.85 0.22 0.09
ERER [WER AN] m3
FHETNE m3 | 78.00 18.47 1.1 12. 80 2.22 | 54.09 1.94 0.78 0.39 4.54
FETWE [AH] m3
ST [AsEiZEhi] m | 390.00 393.21 12.00 | 57.88 10.12 | 292. M1 14. 80 6.00
SHEM I [CofiZEhi] m
SHEMEVE LFEAT [Asfizh] | m2  212.00 @ 212.49 3.60 | 23.15 4.05 175.45 4.44 1.80
SHihRERE LA T [CoffikhR] = m2
TR I 7IL RN m3 9.00 8.50 0.14 0.93 0.16 7.02 0.18 0.07
avy)— hBRaE m3
LEBREET [M-30, t=10cm] m2 192.99 3.60 | 23.15 4.05 155.95 4.44 1.80
FRT 7L hEET [t=4cm] m2 212.49 3.60 | 23.15 4.05 175.45 4.44 1.80
WHY-MFHET [t=12cm] m2
BAKGEMALIE [AsHzEhR] m3 0.36 0.362 0.011 0.053 0.009 | 0.269 @ 0.014 0.006
AEKERNIE [CofizkhR] m3
TREREET m2
BEERE W5 [VP] t 1.90 1.945 0.244  0.043 1.640 | 0.013 = 0.005
BRERENS [ACP] m3
REGL [XF -85 15cmi@BE]  m




P N i

HPPE ¢ 150 DP=0. 90m

% 1 o) % &t " = iwH &

3.00 0.60 x 0.10 + m3
E AR A T® 3.00 0.60 x 1.140 2.23
m3
ERIER RC-40 3.00 0.60 x 0.20 0. 36
m3

ERER FRELT 3.00 0.60 x 0.260 0.47 0.52
m3
ERER (ANE2 3.00 (0.60 x  0.480 — 0.025) 0.79
m3
ERER RO ECRE 3.00 0.60 x 0.10 0.18
m3
FHETWIE 2.23 0.52 1. 71
m
ST T Ashix 3.00 4.00 12.00
m2
SRR EEHm Y Ashix 3.00 1.20 3. 60
m3
R E Asi 3.60 0.04 0.14
m2
EERET M-30, t=10cm 3.00 1.20 3.60
m2
TAITWMERET t=4cm 3.00 1.20 3.60
m3
AKERR R Ashiz 12.00 0.04 x 0.023 0.011




P = il

HPPE ¢ 150 DP=0. 90m

% 1 o) % &t " B = i®H &

14.47 x 0.60 x 0.10 + m3
E AR A T® 14. 47 x 1.00 x 1.376 20.78
m3
ERIER RG-40 14. 47 x 1.00 x 0.20 2.89
m3

ERER FRELT 14. 47 x 1.00 x 0.496 7.18 7.98
m3
ERER ATy 14.47 x (1.00 x  0.480 — 0.025) 6.58
m3
ERER RO ECRE 14. 47 x 1.00 x 0.10 1.45
m3
FHETWIE 20.78 — 7.98 12.80
m
HEUIT Ashi 14.47 x 4.00 57.88
m2
SHERFIEHRY Ashiz 14.47 x 1. 60 23.15
m3
R E Asi 23.15 x 0.04 0.93
m2
LTERET M-30, t=10cm = 14.47 x 1. 60 23.15
m2
TAITW M T t=4cm 14.47 x 1.60 23.15
m3
AKERR R Ashiz 57.88 x 0.04 x 0.023 0. 053
VP, ¢ 150 14.47 x  6.701 =+ 1000 + t
BEREN 5 VP, ¢ 200 14.47 x 10.129 =+ 1000 0.244




AFZ+ 13

HPPE ¢ 150 DP=1.20m

% 1 o) % &t " B = i®H &

2.53 x 0.60 x 0.10 + m3
E AR A T® 2.53 x 1.00 x  1.440 3.80
m3
ERIER RG-40 2.53 x 1.00 x 0.20 0. 51
m3

ERER FRELT 2.53 x 1.00 x 0.560 1.42 1.58
m3
ERER ATy 2.53 x (1.00 x  0.480 — 0.025) 1.15
m3
ERER RO ECRE 2.53 x 1.00 x 0.10 0.25
m3
FHETWIE 3.80 — 1.58 2.22
m
HEUIT Ashi 2.53 x 4.00 10.12
m2
HEMRFIZFEY Ashix 2.53 x 1.60 4.05
m3
SHEMRNE Asti 4.05 x 0.04 0.16
m2
LTERET M-30, t=10cm 2.53 x 1. 60 4.05
m2
TAITW M T t=4cm 2.53 x 1.60 4.05
m3
EKERALIE Ashiz 10.12 x 0.04 x 0.023 0. 009
VP, ¢ 150 2.53 x  6.701 = 1000 + t
BEREN 5 VP, ¢ 200 2.53 x 10.129 + 1000 0. 043




AEZ+T14

HPPE ¢ 150 DP=0. 90m

% 1 o) % &t " B = i®H &

97.47 x 0.60 x 0.10 + m3
E AR A T® 97.47 x 0.60 x 1.376 86. 32
m3
ERIER RG-40 97.47 x 0.60 x 0.20 11.70
m3

ERER FRELT 97.47 x 0.60 x 0.496 29. 01 32.23
m3
ERER ATy 97.47 x (0.60 x  0.480 — 0.025) 25.63
m3
ERER RO ECRE 97.47 x 0.60 x 0.10 5.85
m3
FHETWIE 86.32 — 32.23 54.09
m
HEUIT Ashi 97.47 x 3.00 292. M
m2
SHERFIEHRY Ashiz 97.47 x  1.800 175.45
m3
R E Asi 175.45 x 0.04 7.02
m2
LTERET M-30, t=11cm = 97.47 x 1. 60 155. 95
m2
TAITW M T t=4cm 97.47 x 1.80 175. 45
m3
AKERR R Ashiz 292. 41 x 0.04 x 0.023 0. 269
VP, ¢ 150 97.47 x  6.701 = 1000 + t
BEREN 5 VP, ¢ 200 97.47 x 10.129 + 1000 1. 640




ARZETI5

HPPE ¢ 100 DP=0. 90m

% 1 o) % &t H = fis

3.70 x 0.60 x 0.10 + m3
E AR A T® 3.70 x 0.60 x 1.274 3.05
m3
ERIER RG-40 3.70 x 0.60 x 0.20 0.44
m3

ERER FRELT 3.70 x 0.60 x 0.449 1.00 .1
m3
ERER ATy 3.70 x (0.60 x 0.425 — 0.012) 0.90
m3
ERER RO ECRE 3.70 x 0.60 x 0.10 0.22
m3
FHETWIE 3.05 — 1.1 1.94
m
HEUIT Ashi 3.70 x 4.00 14. 80
m2
SHERFIEHRY Ashiz 3.70 x  1.200 4.44
m3
R E Asii 4.44 x 0.04 0.18
m2
LTERET M-30, t=10cm 3.70 x 1.20 4.44
m2
TAITW M T t=4cm 3.70 x 1.20 4.44
m3
AKERR R Ashiz 14.80 x 0.04 x 0.023 0.014
t
B E Ly VP, ¢ 100 3.70 x  3.409 = 1000 0.013




P N i

HPPE ¢ 100 DP=1. 20m

% 1 o) % &t " B = i®H &

1.50 x 0.60 x 0.10 + m3
E AR A T® 1.50 x 0.60 x 1.385 1.34
m3
ERIER RG-40 1.50 x 0.60 x 0.20 0.18
m3

ERER FRELT 1.50 x 0.60 x 0.56 0.50 0.56
m3
ERER ATy 1.50 x (0.60 x 0.425 — 0.012) 0. 36
m3
ERER RO ECRE 1.50 x 0.60 x 0.10 0.09
m3
FHETWIE 1.34 — 0.56 0.78
m
HEUIT Ashi 1.50 x 4.00 6. 00
m2
SHERFIEHRY Ashiz 1.50 x 1.200 1.80
m3
SR Asi 1.80 x 0. 04 0.07
m2
LTERET M-30, t=10cm 1.50 x 1.20 1.80
m2
TAITW M T t=4cm 1.50 x 1.20 1.80
m3
AKERR R Ashiz 6.00 x 0.04 x 0.023 0. 006
t
B E Ly VP, ¢ 100 1.50 x  3.409 =+ 1000 0. 005




BiEAIT

HPPE ¢ 100 DP=0. 90m

% ¥R o) % &t " = i®H &

m3

ERIEHI [#m] T 0.90 0.60 0. 600 0.32
m3

EREA [AA] T 0.90 0.60 0.425 0.23
m3

ERIER RG-40 0.90 0.60 0.35 0.19
m3

ERER FRET 0.90 0.60 0.25 0.14 0.16
m3

ERER ATy 0.90 (0. 60 0.425 — 0.012) 0.22
m3

FHETWIE 0.55 0.16 0.39




BiEdlT2 HPPE ¢ 150 DP=0. 90m

% ¥R o) % &t " B = i®H &

m3

ERRIEA [HM] T 9.45 x 0.60 x 0.600 = 3.40
m3

EREA [AA] T 9.45 x 0.60 x 0.480 = 2.72
m3

ERIER RG-40 9.45 x 0.60 x 0.35 = 1.98
m3

ERER FRET 9.45 x 0.60 x 0.25 = 1.42 1.58
m3

ERER ATy 9.45 x (0.60 x 0.480 — 0.025) = 2.49
m3

FETE 6.12 — 1.58 = 4.54




TTREREHR

% R HO® g E = B B
WKE
HIVP ¢ 20 1.50 + 0.30 + 3.10 + 0.50 + 0.50
Akt
DP=0. 64 + 2.90 4+ 0.50 9.30 m
HIVP ¢ 50 0.50 + 3.10
faktx?2
DP=0. 64 3.60 m
&&t 3.60 m




KT TER

kTl #RKET2
I & Bfi FEHE & & HIVPG20 HIVP@50
DP=0.64 DP=0. 64
ERREHI [(HmiER] m3 6.00 6.47 4. 61 1.86
S U Ok D) m3
ERRIER [RC-40) m3 2.00 1.55 1.12 0.43
ERIER [RC-40, AH1] m3
ERER [REREL] m3
ERER [REREEL AN] m3
ERER (L) m3 3.00 2.58 1. 81 0.77
ERER (LE, AN) m3
ERIER [FER) m3 0.80 0.78 0. 56 0.22
ERIER (FER AN m3
FETHE m3 6.00 6.47 4. 61 1.86
FEtoE [AN] m3
SENRUIET [AsTHEERR]) m  38.00 37.60 26.40 11.20
SEhRYIET [Cofh%EhR]) m
HEMBUE LFEAT [AsEiZzEhR] m2  11.00 11.28 1.92 3.36
SEIREUR LIEA T [CofiZkhR] | m2
TAI7IL MR m3 0.50 0.45 0.32 0.13
avy— MRLE m3
ERERET [M-30, t=10cm] m2 11.28 1.92 3.36
FRI7IL MEET [t=4cm) m2 11.28 1.92 3. 36
WY MEET [t=120m] m2
BAERNIE [AsTizhR] m3 0.03 0.034 0.024 0.010
BCEMRALIE [CoffzhR] m3
FEEET m2
EiREL S [VP) t
EEEREN 5 [ACP) m3
REHL [XF -85 15cmitE] | m




kI

HIVP ¢ 20 DP=0. 64m

£ 5 o) 1% &t g H = s
9.30 x 0.60 x 0.10 + m3
EIRIEHI T 9.30 x 0.60 x 0.726 4. 61
m3
ERER RC-40 9.30 x 0.60 x 0.20 1.12
m3
ERER (IIE:)) 9.30 x (0.60 x 0.326 — 0.001) 1. 81
m3
ERER ROEHE 9.30 x 0.60 x 0.10 0.56
m3
FRELTWIE 4.61 — 0.00 4. 61
KREFEEITEES (L=2. Tm) $=F5 m
HEVIT Ashi 6.60 x 4.00 26. 40
KREFEEITEES (L=2. Tm) $=F5 m2
HEMRETmMY Ashiz 6.60 x 1.20 7.92
m3
TR0z Astf 7.92 x 0.04 0. 32
KREFEEITEES (L=2. Tm) $=F5 m2
FrERET M-30, t=10cm 6.60 x 1.20 1.92
KREFELITEES (L=2. Tm) $=F5 m2
TRI7I M T t=4cm 6.60 x 1.20 1.92
m3
AKERRNE Ashiz 26.40 x 0.04 x 0.023 0.024




Akt I2

HIVP ¢ 50 DP=0. 64m

% L b5 % it =1 B = fi
3.60 x 0.60 x 0.10 + m3
SRR HI T 3.60 x 0.60 x 0. 760 1.86
m3
EHRIER RC-40 3.60 x 0.60 x 0.20 0.43
m3
ERIER D 3.60 x (0.60 x 0.360 — 0. 003) 0.77
m3
ERIER LR 3.60 x 0.60 x 0.10 0.22
m3
FRELTNIE 1.86 — 0.00 1.86
AL T EHS (L=0. 8m) #E% m
HEUIMT Ashi 2.80 x 4.00 11.20
AL T EHS (L=0. 8m) ¥ m2
SHERRFIEFEY Ashi 2.80 x 1.20 3.36
m3
R E Asti 3.36 x 0. 04 0.13
AL T EHS (L=0. 8m) #Ep% m2
LERET M-30, t=10cm 2.80 x 1.20 3.36
AL T EHS (L=0. 8m) #E% m2
TAITWMERET t=4cm 2.80 x 1.20 3. 36
m3
AKIEREN IR AshiR 11.20 x 0.04 x 0.023 0.010




TTEREE

£ £ % g iE = g B
RE&E
SGP100A .00 + 1.00
gt T1
DP=0. 90 2.00 m
SGP100A .00
&+ 12
DP=1. 20 1.00 m
PEP ¢ 50 .50 + 19.50 + 3.00 + 6.00 + 10.50
RER T T3 (EER)
DP=0. 24 .00 + 14.50 + 1.00 + 4.00 65. 00 m
PEP ¢ 50 .50 + 19.50 + 3.00 + 6.00 + 10.50
REE+ T3 EE)
DP=0. 24 .00 + 14.50 + 1.00 + 4.00 65. 00 m
00 x AEEAER
HiEL T
DP=0. 90 4.00 m
00 x 1&5F7
HiEL T2
DP=1. 20 1.00 m
00 x OfEAR
HiEL T3
DP=0. 70 9.00 m
&t 147.00 m




R+ TER

RRET1 | RBFE T2 wetrseEm GRETdn| SRELT1 RELT2 | K\ TS
T 1 Bifs EXEHE & 5t | SGP100A | SGP100A ~PEP$50 = PEP @50
DP=0.90 DP=1.20 DP=0.24| DP=0.24 DP=0.90 DP=1.20| DP=0.70
EERIEH (HHER] m3 | 30.00 29.57 1.17 0.76 | 10.14 | 11.70 2.24 0.86 2.70
ERIEE [ANDHEHI] m3 5.00 4.74 1.20 0.30 3.24
ERRIER [RC-40]) m3 = 12.00 11.72 0.12 0.06 3.90 6.24 0.40 0.10 0.90
EHRIEERE [RC-40, AH1] m3
ERER (REREL) m3 = 19.00 18.83 1.10 0.73 7.80 2.80 1.00 5.40
ERER (REREL AN] m3
ERER (ILF) m3 0.50 0.50 0.40 0.10
ERER (IWE, AH] m3
ERER [AER] m3
ERER [(RERE AH) m3
FAETNE m3 = 13.00 13.39 = -0.05 -0.05 1.47  11.70 0.33 0.05 | -0.06
HETNE [AA] m3
kRl [(AsfiZhiR] m  98.00 98. 00 98.00
SRR [CoffiZEhR] m
SHEMREUE LTRIAT [AsEdZzEm]  m2 | 32.00 31.92 31.92
SHEAREUE LFEAT [Coflizhk] | m2
FAI7IL RN m3 1.00 1.28 1.28
avy ) — hRnE m3
ERERREET [M-30, t=10cm] m2 32.28 32.28
FRI7IL MBET [t=4om) m2 31.92 31.92
WY)-MEZET [t=12cm]) m2
AKEME [AsTHZEiR] m3 0.09 0.090 0. 090
AKEMARE [CoffzEik] m3
FEEBET m2
BErEMs [VP] t
BREREs [ACP] m3
KEMRI [XF -5 15cmiE] | m




ekt 11 SGP100A DP=0. 90m
2 7 R S g B =

2.00 x 0.00 0.00 + m3
TRIEE] [#4]) T 2.00 x 0.60 0.974 1.17
m3
ERIER RC-40 2.00 x 0.60 0.10 0.12
m3

ETHRIER HE T 2.00 x 0.60 0.914 1.10 1.22
m3
FAETE 1.17 — 1.22 -0.05




REZEL T2 SGP100A DP=1. 20m

% ¥R o) % &t " B = iwH &

1.00 x 0.00 x 0.00 + m3
ERRIEA [HW] T 1.00 x 0.60 x 1.274 = 0.76
m3
ERIER RG-40 1.00 x 0.60 x 0.10 = 0.06
m3

ERER FRELT 1.00 x 0.60 x 1.214 = 0.73 0. 81
m3

FETHE 0.76 — 0.81 = -0.05




REZ+ T3 (1EEE

PEP ¢ 50 DP=0. 24m

£ Lo i) % Hi -1 = w *

65.00 X 0.00 x 0.00 + m3
ERRIEAE (] T 65.00 x 0.60 x 0.260 10. 14
m3
ERiEE RC-40 65.00 x 0.60 x 0.10 3.90
m3

ERER HHEL 65.00 x 0.60 x 0.200 7.80 8.67
m3
4T 10.14 —  8.67 1.47
L=33. mH D #H2E R m
SHEYET Ashi 33.00 x 2.00 + 32 x 1.00 98.00
REFETTIEKUHRKEIITEES (L=11. 8m) ¥k m2
HEMRFIEFRY Ashi 53.20 x 0.60 31.92
m3
HEMRNE Asii 31.92 x 0.04 1.28
m3
AKERTE Ashi 98.00 x 0.04 x 0.023 0. 090




REE LT3 HEE)

PEP ¢ 50 DP=0. 24m

% FR i) % &t " = ]
65.00 x 0.00 x 0.10 + m3
ERIEA [Hm] T 65.00 X 0.60 x 0.300 11.70
m3
ERER RC-40 65.00 x 0.60 x 0.16 6.24
m3
A TR 11.70 — 0.00 11.70
AEFELTIHSLVHRKEIIEES (=11, 2m) £k m2
LERET M-30, t=10cm 53.80 x 0. 60 32.28
AREFELTIHSLVHRKEIIEES (L=11. 8m) £ m2
TAI7 VMR T t=4cm 53.20 x 0. 60 31.92




AEL T DP=0. 90m
% ¥R o) % &t " = i®H &
4.00 x 0.00 x 0.00 + m3
ERIEHI [#m] Tw 4.00 x 1.00 x  0.560 2.24
m3
EREA [AN] T® 4.00 x 1.00 x 0.300 1.20
m3
ERIER RC-40 4.00 x 1.00 x 0.10 0.40
m3
ERER FRET 4.00 x 1.00 x 0.70 2.80 3. 11
m3
ERER (INE:)2 400 x (1.00 x 0.100 — 0) 0.40
m3
FHETWIE 3.44 — 3.1 0.33




AiEL T2 DP=1. 20m
% ¥R o) % &t " = fis
1.00 0.00 x 0.00 + m3
ERIEHI [#m] Tw 1.00 1.00 x 0.860 0. 86
m3
EREA [AN] T® 1.00 1.00 x 0.300 0.30
m3
ERIER RC-40 1.00 1.00 x 0.10 0.10
m3
ERER FRET 1.00 1.00 x 1.00 1.00 .1
m3
ERER (INE:)2 1.00 (1.00 x 0.100 — 0) 0.10
m3
FHETWIE 1.16 1. 11 0.05




AEL T3 DP=0. 70m
% ¥R o) % &t " = i®H &
9.00 x 0.00 x 0.00 + m3
ERIEHI [#m] T® 9.00 x 1.00 x 0.300 2.70
m3
EREA [AN] T 9.00 x 1.00 x 0.360 3.24
m3
ERIER RC-40 9.00 x 1.00 x 0.10 0.90
m3
ERER FRET 9.00 x 1.00 x 0.60 5.40 6.00
m3
ERER (ANE2 9.00 x (1.00 x 0.000 — 0) 0.00
m3
FHETWIE 5.94 — 6. 00 -0. 06




It T IR

T g B[ EREHE & i ARELTTH #HBKEIH RELTIS
TAITMMEEEE T

LREET O30 t=10n] 937,00 23655  192.99  11.28  32.28

FAI7ILHET [t=dom] o 256. 00 255. 69 212. 49 11.28 31.92




kR

£ 5 B g 5 B H = HETHE
[AE HPPE ¢ 150]
- (N) 14 5
HPPE EF | S E & & 150 * 23.00 23.00
(N) @ 4
HPPE EFy#ry b & 150 3 e 3.00 3.00
HPPE EF211° 1/4n° vp & 150 2 e 2.00 2.00
HPPE EF 5 2SA" v1° (300H) & 150 2 e 2.00 2.00
EFR 253" 150 ‘ e 1.00 1.00
XH=805" 342 b (HPPE x HPPE) 150 2 e 2.00 2.00
ERU-b W=l5om K& 115.670.25 m 115.92 115. 90
®m7-7 Wsom ZEMAY  |HPPE - 4150 (11801 ;‘” x ez 98. 27 98. 30
=700 k- B4 4 m 115.92 115.90
[AE HPPE ¢ 100]
HPPE EF K 2% 100 W & 1.00 1.00
(N) @ 1
V7 14 6150x ¢100| e 1.00 1.00
HPPE EFyAry b 6100 2 e 2.00 2.00
_ 1.89
ERy-b W=l5om k& m 1.89 1.90
FR7-7 Webem EHAY  |HPPE - 4100 2(‘1251 ;‘“ 189 111 1.10
D-740h" k- B4 4 m 1.89 1.90
[T HPPEG200 - ¢150 - ¢
100]
HPPE 7° L-vIvl B 200 W & 1.00 1.00
(N) @ 1
EF R 17 14 $200x $150 | @ 1.00 1.00
HPPE EFy#y b 100 ‘ e 1.00 1.00
HPPE EF J5222° 1/20 vb 100 2 e 2.00 2.00
XH=805" 342 b (HPPE X VP) 200 ‘ e 1.00 1.00
XH=85" 342 b (HPPE x HPPE) & 150 ‘ e 1.00 1.00
XH=85" 342 b (HPPE x HPPE) 100 ‘ e 1.00 1.00




kR

£ b B g & = B 2 HETHE
=30 342 b (HPPE x VP) $100 1 I 1.00 1.00
EmRy-b W=l5om kK& 0.60 0.37 2.25 | 3.22 3.20
FR7-7 Webem EHAY  |HPPE - 200 (12501 ;‘” x 0.60 | 0.70
FR7-7 Webem SHAY  |HPPE - ¢150 (11801 ;‘” x0.37 0. 31 2.30
FR7-7 Webem EHAY  |HPPE - 6100 (11251 ;‘” x2.25 1.32
DI-3495° Mb- 4.4 m 3.22 3. 20
[H815:]
PESE L O 47 b-IE 515 150 1 1.00 1.00
PESE L O Y7 bo-IE 515 ¢ 100 1 1.00 1.00
HyHE wEmE a2 2.00 2.00
HEL 2 e 2.00 2.00
T e 2 e 2.00 2.00
g%g'{ﬁ;"f VE 6200 0.40 x 2 m 0. 80 0. 80
[#EKE]
EEELL ZVE  HIVP 50 t m 2.70 2.70
BEEEL ZVE  HIVP 40 o m 0.50 0.50
BEEEL CVE  HIVP b 25 o m 0.90 0.90
EEELE VS HIVP 20 2705 05 20 00 m 6.70 6.70
HPPERRS5854H It 53 7kie $150x 50 | | @ 1.00 1.00
HPPEFR B 8L 1 Mt 53 7Kkig $150x 40 | | @ 1.00 1.00
HPPEFB B 8EHH Mt 53 7Kkig $150% 25 | 2 @ 2.00 2.00
HPPERB S5 8541 It 53 7kig $150x 20 | ° @ 5.00 5.00
KIS 650x1000L | I 1.00 1.00
KIS 640x 1000L | ! I 1.00 1.00
KIS 625x1000L | 2 I 2.00 2.00




kR

2 # ok | B % ® (M@ E |mHnE
HWAKAIVFE @ 20 x 1000L 5 & 5.00 5.00
PR & 5 BEBTH LT 50 4 & 4.00 4.00
PR & 5 BEBTH LR T $40 2 & 2.00 2.00
PR & 5 BEBTH LR T 25 2 & 3.00 3.00
PR & 5 MBS LR T $20 A Y- 9.00 9.00
T & S MBI EROEE |620x 13 | | & 1.00 .00
Kb iEkigZ B 50 ‘ % .00 .00
SR (g bR £@4170 | 2 & 2.00 2.00
HLEES 6450 2 & 2.00 2.00
T mEEsE | # 100 1,00
g%g{ﬁ;"f V& 200 0.40 = 3 m 1.20 1.20
ZrY-b W=15cm Xk g ;g 0.50 0.90 m 10. 80 10. 80

(F8T]
fiE SGP 100A 12.0 m 12.00 12.00
FIFL_EE ¢ 50 7.0 7.5 m 124.50 124.50
NUIFLV BT ¢ 40 44.0 m 44.00 44.00
NUIFLV BT @25 30 13.0 1.0 m 17.00 17.00
KR BE $20 S 21.00 21. 00
HEREIN VT H b 100A 4 & 4.00 4.00
HEREIN VT H b 50A 5 & 5.00 5.00
HEREIN VT H b 40A 1 & 1.00 1.00
HEREIN VT H b 25A 1 1 & 2.00 2.00
HEREIN VT H b 20A 10 & 10. 00 10. 00
$HE90° I 100A 8 & 8.00 8.00
MEF-2 100A 1 & 1.00 1.00




kR

% # 0o % (@ E |mHnE
VSERA -NRHR Borrkae $100x ¢ 25 & 100 1,00
YTE b 650 625 I 100 1,00
YTE b 640 ¢ 25 I 100 1,00
YTE b 25 620 " @ 4.00 4,00
YTE b $20x ¢ 13 " @ 7.00 7.00
Y152 $50 I 2.00 2.00
Y133 50 640 I 100 1,00
Y133 650 625 I 2.00 2.00
Y133 $50x 620 I 100 1,00
Y133 $40x ¢ 25 I 100 1,00
Y133 640 620 I 2.00 2.00
YT5-7 25 620 " @ 3.00 3.00
SR BY 149h HPPEXVP) | 6150 x 6100 I 100 1,00
SHZRRY" 245 (VP X VP) 6100 I 100 1,00
VPR IE 6200 I 100 1,00
VPR IE 6100 I 100 1,00
YT75° 7" 4 $50 I 2.00 2.00
e 25 @ .00 .00
e - TS it 1.00 1,00




YEfZE HPPE ¢ 150 L= 5.000 m

S BUE|(ZUVE|ZUE|ZUE|ZUE|ZUE|Z2UE Hi % OE | U B

1 3.00 1.20 4.20 0.80 2

2 2.35 1.43 3.78 1.22 2

3 3.98 3.98 1.02 1

4 3.90 0. 41 0.69 5.00 0.00 2

5

6

Ji

&t 16. 96 3.04 7.00
IS HPPE ¢ 100 L= 5.000 m
EEB|RUE|(ZUE|(ZUE|(ZUE|ZUE|ZUE|Z2UE Hi OB | U B

1 0.97 0.44 0.67 0.80 2.88 2.12 4

2

3

4

5

6

Ji

&t 2.88 2.12 4.00
IS HPPE ¢ 200 L= 5.000 m
EBB|IZUE|(ZUE|(ZUE|(ZUE|ZUE|ZUE|ZUE Hi % OE | U B

1 0.60 0.60 4.40 1

2

3

4

5

6

i 0.60 4.40 1.00




5575

£ 5 BB g 5 B 2 HETHE
[A&% HPPE ¢ 150]
HPPE& #735 T & 150 15.670.25 m 115.92 115.90
EFET [10R&E) 150 29 & 29.00 29.00
FFET [2O8F] & 150 EFyph 3 R 3.00 3.00
EFF-2 0
ST HPPE - 150 | O 7.00 7.00
SO T (B HPPE -+ 6150 | | O 1.00 1.00
SHAMEE T 150 4 O 4.00 4.00
SRS T 115.670.25 m 115.92 115. 90
ERRT-7 T HPPE + ¢ 150 (11801 ;‘” x ez 98. 27 98. 30
0h-3 (o5 Y-SR E T m 115. 92 115. 90
[A&% HPPE$100]
: .89
HPPE&S 758 T 6100 m 1.89 1.90
FFET [1ORE] 6100 ‘ & 1,00 .00
FFET [2O8F] 100 EFvph 2 R 2.00 2.00
EFF-2 0
ST HPPE - ¢ 100 | * O 4.00 4.00
EHR-I T 1.89 m 1.89 1.90
BERT-T T HPPE + ¢ 100 (11251 ;‘”x 189 111 1.10
05-3 (05 Y-SR E T m .89 1.90
[E#T HPPE 200 - ¢150 - &
100]
: 0. 60
HPPE&S 758 T 200 m 0. 60 0. 60
: 0.37
HPPE&S 4758 T 150 m 0.37 0. 40
: 2.25
HPPE&S 4758 T 6100 m 2.95 2.30
FFET [1ORE] 200 ‘ & 1,00 .00
FFET [10RE) 6100 2 & 2.00 2.00
FFET [208F] 6100 EFsysk 1 R .00 1.00

EFF-2° 0




5575

£ 5 B g & = B 2 HETHE
SHAMEE T 200 2 O 2.00 2.00
SHAMEE T 150 2 O 3.00 3.00
SHAMEE T 6100 4 O 4.00 4.00
ST HPPE - $200 | O 1.00 1.00
BT (FERE) V200 | | N 1.00 .00
EYMET (RS V- p150 | | O 1.00 1.00
EYMET (RS V- p100 | | O 1.00 1.00
EBRRY-bT 0.60 0.37 2.25 | 3.22 3.20
BBRT-T T HPPE « ¢ 200 (12501 ;‘” x 0.60 | 0.70 0.70
BERT-T T HPPE « ¢ 150 (11801 ;‘” x0.37 0. 31 0.30
BERT-T T HPPE + ¢ 100 (11251 ;‘” x2.25 1.32 1.30
-7 40)" Y-BB T m 3.22 3.20
[HE1#]
BRI ARET 150 ‘ 1,00 .00
GRNHYARET 6100 ‘ 1,00 .00
PURHERET 2 2.00 2.00
[#KET)
SIKIEEAT $150x 50 | | & 1.00 1.00
SIKIEEAT $150x 40 | | & 1.00 1.00
SIKIEEAT $150 25 | 2 & 2.00 2.00
SIKIEEAT $150x 20 | ° & 5.00 5.00
EEEL CVERBRT 50 t m 2.70 2.70
EEEL CVERRT 40 o m 0.50 0.50
EEEL CVERRT b 25 o m 0.90 0.90
EEEL CVERRT 620 BT0S D S0 m 6.70 6. 70
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£ Lo s B - 2 &g B = BREtHE
BT E SHBEBLERET | $50 8 o 8.00 .00
BT E SMBBLERET | ¢40 4 o 4.00 4.00
BT E SMBFLRET | p25 6 o 6.00 6.00
BT E SHBEBLERET 620 L o 19. 00 19. 00
BT E SHBBLRET | 013 ‘ o 1.00 100
LKA ER A T 50 1 % .00 .00
RLRAAERET ‘ x 1.00 .00
BERET . % 2.00 2.00
BRI T g: ;g 0.50 0.0} 10. 80 10.80

[(REBEERERETL]

WEREMET 100A 12.00 m 12.00 12.00
WMERTHATI LT 100A 8wl g 27.00 27.00
PEPSREMET 50 7.0 7.5 m 124.50 124.50
PEPSREMET 40 44.0 m 44. 00 44. 00
PEPSEEMET 25 30 130 1.0 17.00 17.00
PEPEYBHET $20 R 21. 00 21. 00
PEPREFIEAESI LT 50 " o 120 B = 27.00 27.00
PEPMF AT LT ¢ 40 o 1 271 n 10. 00 10. 00
PEPMF AT LT 25 o ; MR I 19. 00 19. 00
PEPREFIEAESI LT 20 o 276 g 38. 00 38.00
PEPMF AT LT 613 o : R O 7.00 7.00
BT E SMBFLRET | p25 2 o 2.00 2.00
AT AT LT 6200 ‘ o 1.00 100
AT AT LT 6150 ‘ o 1.00 100
AT AT LT 6100 oz T g 4.00 4.00




%A BB

b
el

lml

AR L

£ 5 BB g 5
$100x ¢ 25 1 EHFT 1.00 1.00

DIKEAT




- THARREIT DWW T

T4 - NEPR-NEOKERRE (20 1) TH
TEG AE NEE S #A

THHCIE, KET RO TIC A E ALK (EEHHL) DS UToHREZ AL THS

(D Arg AR 30 HIH

@ Fr o 1 11T 20 HIH

QMIfRE (EM T HBUCIRE &ERfEIC X 0 /EEA R v HE | 0.88
% AT 720 DIRED




